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DEF AXB ={ (aib) / AEA ,bEB}
Cartesian product

2 ° %,z#(4,2 )HtT!' ⇔ ""
B = {2,5 }

↑
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then / AUB / =lAÑB -Def of addition
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P(A) power set : P (A) = { B \ B ≤A}
Set of all subsets of A
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AB sets PC

DEF
Eaton from'i¥,+→,

R ≤ A ✗B
A : = domain of R dom(R)
B:=cod◦mainofRcR-

② F- relations A-→B

set of relations : I fA✗B)

r : # relations : / PCA ✗ B)1=2
/ * ✗ 131=21-1

A → B
=

DIF Relation 01 A : A-→ A oeletion



-relation on A
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we write ✗ Ry

¥É=?t E
divisibility R={ (ais) / a ,bEZ ,

a / b }
order Ord -{said / → -
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a< b }
↑

☒=ÉVaeA)(aRÑ
u relations on A IAl=nDEFF.tt#if-vab-A)(aRb--sbRa)

④ # -a - relations

#rfl.&symm#


